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 WE470−1, change of PDT in volour vision

λ /nm

Adaptation: λUT=503

logarithmic Na-sensitivity
Na = ( Ua • Ta )0,5

log Na = ( logUa + logTa) / 2
log [ Na, Ua, Ta ]

logNa= logNo
logUa= logUo + 0.38
logTa= logTo + 0.39
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 WE470−2, change of PDT in volour vision

λ /nm

Adaptation: λUT=503

logarithmic Na-saturation
Na = ( Ua • Ta )0,5

log Na = ( logUa + logTa) / 2
0.16 log [Ua/Ua, Ta/Ua ]

logNa= logNo
logUa= logUo + 0.38
logTa= logTo + 0.39

400 500 600 700
−1

  

  0

  

  1

Threshold
ta=0.0

 
 WE470−3, change of PDT in volour vision

λ /nm

Adaptation: λUT=525

logarithmic Na-sensitivity
Na = ( Ua • Ta )0,5

log Na = ( logUa + logTa) / 2
log [ Na, Ua, Ta ]

logNa= logNo
logUa= logUo + 0.06
logTa= logTo + 0.72
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ta=0.0

 
 WE470−4, change of PDT in volour vision

λ /nm

Adaptation: λUT=525

logarithmic Na-saturation
Na = ( Ua • Ta )0,5

log Na = ( logUa + logTa) / 2
0.16 log [Ua/Ua, Ta/Ua ]

logNa= logNo
logUa= logUo + 0.06
logTa= logTo + 0.72
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Threshold
ta=0.0

 
 WE470−5, change of PDT in volour vision

λ /nm

Adaptation: λUT=475

logarithmic Na-sensitivity
Na = ( Ua • Ta )0,5

log Na = ( logUa + logTa) / 2
log [ Na, Ua, Ta ]

logNa= logNo
logUa= logUo + 0.79
logTa= logTo − 0.02

400 500 600 700
−2

−1

  0

Threshold
ta=0.0

 
 WE470−6, change of PDT in volour vision

λ /nm

Adaptation: λUT=475

logarithmic Na-saturation
Na = ( Ua • Ta )0,5

log Na = ( logUa + logTa) / 2
0.16 log [Ua/Ua, Ta/Ua ]

logNa= logNo
logUa= logUo + 0.79
logTa= logTo − 0.02
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Threshold
ta=0.0

 
 WE470−7, change of PDT in volour vision

λ /nm

Adaptation: λUT=450

logarithmic Na-sensitivity
Na = ( Ua • Ta )0,5

log Na = ( logUa + logTa) / 2
log [ Na, Ua, Ta ]

logNa= logNo
logUa= logUo + 1.16
logTa= logTo − 0.39
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ta=0.0

 

 
 WE470−8, change of PDT in volour vision

λ /nm

Adaptation: λUT=450

logarithmic Na-saturation
Na = ( Ua • Ta )0,5

log Na = ( logUa + logTa) / 2
0.16 log [Ua/Ua, Ta/Ua ]

logNa= logNo
logUa= logUo + 1.16
logTa= logTo − 0.39
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Threshold
ta=0.0

 
 WE471−1, change of PDT in volour vision

λ /nm

Adaptation: λUT=503

logarithmic Na-sensitivity
Na = ( Ua • Ta )0,5

log Na = ( logUa + logTa) / 2
log [ Na, Ua, Ta ]

logNa= logNo
logUa= logUo + 0.38
logTa= logTo + 0.39
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Threshold
ta=0.007

 
 WE471−2, change of PDT in volour vision

λ /nm

Adaptation: λUT=503

logarithmic Na-saturation
Na = ( Ua • Ta )0,5

log Na = ( logUa + logTa) / 2
0.16 log [Ua/Ua, Ta/Ua ]

logNa= logNo
logUa= logUo + 0.38
logTa= logTo + 0.39
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  1 Threshold
ta=0.007

 
 WE471−3, change of PDT in volour vision

λ /nm

Adaptation: λUT=525

logarithmic Na-sensitivity
Na = ( Ua • Ta )0,5

log Na = ( logUa + logTa) / 2
log [ Na, Ua, Ta ]

logNa= logNo
logUa= logUo + 0.06
logTa= logTo + 0.72
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Threshold
ta=0.007

 
 WE471−4, change of PDT in volour vision

λ /nm

Adaptation: λUT=525

logarithmic Na-saturation
Na = ( Ua • Ta )0,5

log Na = ( logUa + logTa) / 2
0.16 log [Ua/Ua, Ta/Ua ]

logNa= logNo
logUa= logUo + 0.06
logTa= logTo + 0.72
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  1 Threshold
ta=0.007

 
 WE471−5, change of PDT in volour vision

λ /nm

Adaptation: λUT=475

logarithmic Na-sensitivity
Na = ( Ua • Ta )0,5

log Na = ( logUa + logTa) / 2
log [ Na, Ua, Ta ]

logNa= logNo
logUa= logUo + 0.79
logTa= logTo − 0.02
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Threshold
ta=0.007

 
 WE471−6, change of PDT in volour vision

λ /nm

Adaptation: λUT=475

logarithmic Na-saturation
Na = ( Ua • Ta )0,5

log Na = ( logUa + logTa) / 2
0.16 log [Ua/Ua, Ta/Ua ]

logNa= logNo
logUa= logUo + 0.79
logTa= logTo − 0.02
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  1 Threshold
ta=0.007

 
 WE471−7, change of PDT in volour vision

λ /nm

Adaptation: λUT=450

logarithmic Na-sensitivity
Na = ( Ua • Ta )0,5

log Na = ( logUa + logTa) / 2
log [ Na, Ua, Ta ]

logNa= logNo
logUa= logUo + 1.16
logTa= logTo − 0.39

400 500 600 700
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  0

Threshold
ta=0.007

 

 
 WE471−8, change of PDT in volour vision

λ /nm

Adaptation: λUT=450

logarithmic Na-saturation
Na = ( Ua • Ta )0,5

log Na = ( logUa + logTa) / 2
0.16 log [Ua/Ua, Ta/Ua ]

logNa= logNo
logUa= logUo + 1.16
logTa= logTo − 0.39

400 500 600 700
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  0

  

  1 Threshold
ta=0.007
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Logarithmic cone sensitivities and ratios or differences
BAM-test chart no. WE47; colour vision input: cmy0* setcmykcolor
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